Allgemeine - Passen

Platz Start
Nr.: Nr.: Punkte
_______ 1| s |[Schonram i 167,5
2 20 |Grassach-Tittmoning | 166,0
3| wlwagingn 162,5
T Waging W T s
5 13 |Laufen 11 155,5
6|  wltaufent 150,5
7] = |Kirchanschoring IV.____ 1455
8|  uw]|Ringham i 144,0
U S v |Kirchanschoring Il 141,5
______ 0  +|Rothl 135,0
______ 11|  a |Pallingt 133,5
______ 12 | s |Wagingt 1325
______ 3| 2 |Pallingtt 131,0
______ 14 | ____mn |Kirchanschoring V.. 130,5
______ 15 | ____1s |Grassach-Tittmoning 11 1255
______ 16 | s |Schénram 1 122,0
______ 17 | ____1s |Kirchanschoring I 120,5
______ 8| w2 |Roth I 118,5
______ 9 e |Roth gt -~~~ 115,5
.20 s |[Kihnhausent 111,0
21| = |Schonram ML 107,5
22 s |Grassach-Tittmoning Il 106,5
I 2 D « |Palling 100 ___ 95,0
24 18 |Schonram 1V 69,5



Jugend - Passen
Platz Start

Nr.: N Punkte
1 14 (Waging | 160,0
2 s [Schonram1 140,5
3| s |Rotht 128,5
T Kirchansdioring T 1280
5 10 [Grassach-Tittmoning | 106,5
6| s [Wagingtt 102,0
. T]____m|Kirchanschoringl_________ = 1015
ISR - 2 D s |Laufenl _______________ 96,0
. I D v Waging I 89,0
______ 10| ____wn|Ringhaml!_ 88,5
______ 11 | e |Fridolfingt 80,5
______ 12| 4 |Rothll 79,5
______ 13 |______z|Kirchanschoring M1 ________ 72,5
______ 14 | a7 |Schénramit 66,5
______ 15 | _____jtaufenll _______________ 56,0
______ 16 | e |Fridolfingn 51,5
______ 17 |_____1 |Grassach-Tittmoning Il _____ 510
______ 8| o |Roth Il 46,0
19 18 (Waging 1V 41,0




